0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~li
ZHIHVEIPpO\HIV] i PRIV
ZHIHVEIPPO\
RYIFV S\[]]
SURILKDO %l +yQDS DIl &VRSRUN EW]HVHQ
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
“ DPIDQIFK X %S (
+8 7RIQD 6C
BBBBBB BBBBBBBBBBE BBBBBBBBBBE BBBBBBBBBBBB
18(
dplpY 1$( €éW]IHVHQ
RV JiU DNI pUt
—XIDIpNHV] § PRIV
6101
+v0ODS
+8) (85
6THPPINHV pUIpNHIpY 1$C P——
s 6Dl 7§ PRIDIVL IXIDIpN
)  [YHIIXIDpN
wC 6Dl (WD ~XIDIpN
% &VRSRU BBEBBBBBRBRBERB BBBBBBBBBE BEBBBBEBEBR
_ULJHIpV
BIiIXV]
+DYLIHIHVIIPpQ\
YRIJDRP , +8)
SIHQV]  .[IGIS  6]HIIEGE (J\VpJ  7ISXV  7DWD  7DUDP TV NiV —XIDIpN
YRIJDRP ,, +8)
$IHQIV]  .[IGIS  6]HIEGE (I\VpJ  7ISXV  7DWID  7DUDP  %AJU WV —XIDIpN
6=$%T 6=./9,% 3 *": s *5% = (
5E&= 679E1 (512 3 *$: $ *5% = (
7¢// 5T%(57 3 *$: $ *5% = (
6=$725, (6=7(5 3 *$: $ *5% = (
6=$725, (6=7(5 3 *": s *5% = (
6=$725, (6=7(5 3 *$: $ *5% - (
EFV &VDED 7DPiV
E&6 &65%S$ 7$OES $C  $(%B3RI $(*21
E&6 &65%S$ 7SOES 3 $(%63RI $(*21
%66 %URNHU 6HUYLFH 6\VIHP
ZHIHVHIPpQ\HIV] i PRIV _RYIEV *=\[]]



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
$PEUXV 9DUJID -y
&6,./<$52/%$1" 3 *$z % *5$ = (
+E=.g72 *<8/$ 7,%25 3 *$z )% *5% = (
6=(5(1&6,1e 6=3$%T $1,.T 3 *$z % *5$ = (
6]XFV eYD 3 *$:- " *5%: (
1$*<le O2/1E5 OE5,$ 3 *$- - *5$ = (
3%$//%,€9%$ 7h1-( 3 *$z )* *5% = (
%(~2 /E6=/T1le 3 *$- * *5$ = (
" (Oele /21.$ *$%5,(//$ 3 *$z )* *5% = (
.,63E/ 6E1"25 3 *$z * *5$ = (
6]DEy 1INRIHIN 3 *$z )* *5% = (
9(5(6 ,679E1 $1"5E61e 3 *$- * *5$ = (
9%HQNH = yUD $C  *$: )™ *5% = (
%DIKy $H[DQGUD 3 *$z )* *5$ = (
$0O%586 9$5*$ -T=6()1e $C  *B:- > *5% = (
7h7+ &6%%$ ) (5(1& 3 *$z * *5$ = (
7T7+ &6%%$ ) (5(1& 3 *$- * *5% = (
1e0(7+ .251e/,$ 51=6$ 3 *$z * *5$ = (
717+ 0$5,$11$ $C *$: )* *5%: (
.$721E1e 3(72%$1,.T $C  *$:- )* *5$ = (
KiV] $GUHQQ $C  *$: )™ *5% = (
)(-(61e 717+ -8"7 $C  *$:- )* *5$ = (
6=$%T %e/$ ,05( $C  *$:z *5%: (
6=3%1 %e/$ ,05( $C  *$- > *5$ = (
6=$%T %e/$ ,05( $C *$:z *5%: (
$0%586 9$5*$ -T=6() 1le $C  *$:D * *5$ = (
$0O%586 9$5*$ -T=6()1e $C  *B:- > *5% = (
%/$6.T -T=6Q) $C  *$- > *5$ = (
$QGUIVQp 3RNIN
S\VN .l 3 5%: % *5$ = (
$QIDI %HiID (U]
9E5$™, /E6=/T1le 3 *$z % *5$ = (
$SSHIQp 5yQD 7
.5$6=1%, ,679E1 3 *$z * *5$ = (
*16=_I $C  B(&P) $(C*21
*16=_li 3 $(&$) $(*21
%DIi]V YHUHQF
*<$50%$7,1e %$/E=6 =68=6$1 3 *$- * *5$ = (
%DIi1VQp %HIIHP
%(6(1<(, $1"5E61e 3 o % *5$ = (
9%DND OilD
%EL. 6=,/9.$ 3 *$:- $ *5$ = (
%iUiQ\ )HUHQF
0e6=E526 -E1261e 3 *$z % *5$ = (
9%DUDQ\DL OilUD
6=e%(5 51%(57 3 *=zo *5$ = (
6=e%(5 -$326 OT11,.$ 3 - *5% = (
%iUGRVQp *iUGRQ
%ES*26 $1,7$ 3 *$- * *5% = (
%E5"26 $1,7$ 3 *$z * *5$ = (
%ES*26 $1,7$ 3 *$- * *5% = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~Ii

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW -XIDIpN
%HQNH _ DIDIQ
+25%$6 .$7$/,1 3 *$z )* *5% 2 (

%HUPQ\L &]XGDU

%HUPQ\L SLFKiUG $C  *$- ¢ *5$ = (
%HUID $INLID

7(/.(6-1T=6(Q) /25,1& 672 *$z * *5$ = (
7(/.(6-T=6(Q) /25,1& 3 *$z * *5% = (
9%RGD 61QGRUQp

+86=E5 =62/7 3 *$z - *5% = (
&=%$.Tle %(.2 OE5,$ 3 Hwoo- *5%:(
%RGQil 6iQGRU

.29E&6 -T=6()1e 3 *$z )% *5$ = (
%RIQIV (IQ|Qp

/(178/$,1e *("($1"5($ OE 3 *$z )% *5$ = (
.5,67T) /E6=/T 3 *$- * *5% = (
.5,67T) /E6=/T .25 *$- * *5$ = (
.5,67T) /E6=/T1le 3 *$- * *5% = (
.5,67T) /E6=/T1le 3 *$z * *5% = (
9%RIQiU 9IQFPQp

12/$72 ODI\DIRW]iJ . I 3 5$: - *5$ = (
02/1E5 /$-26 3 xeoox *5% = (
.29E&6 $77./$ 3 *$z * *5$ = (
.26=7<,-E126 $C  *B:- > *5% = (
%XEIN 6]10YID %

%XEIN $QGUHD &VIND $C *TD * *5% = (
- UVND 5IFKilG $C *Tz o* *5$ = (
9%XGDL *\XID

5T=6Ele 6=2//26, %(51$" (7 3 wwoov *5$ = (
6=(1(6$"5,(11 .25 *$:- * *5% = (
9%XIGRVy /DIRVQp

79528&6,. $1,.T 3 - *5% = (
)85&6%$ (1"5( 3 *$z * *5$ = (
.286,6 7,%25 3 *$z  * *5% = (
.175 ,679E11le 3 *$z * *5$ = (
.17T5 ,679E1 3 *$- * *5% = (
9%XIGRVy 5LID

&6,.T6 *<g5*< 3 *$z )* *5%: (
&6E1<, *E%25 3 *$z )* *5$ = (
$SGRUIIQ . DIDLQ $QQD $C *TD * *5% = (
7ylK OFINiV =RIiQ $C  *$: )* *5$ = (
&VDED ORUYDL $6G

&8.255e3% 7(50(6=72. 256= 3 * o ox *5$ = (
&8.255e3%$ 7(50(6=72. 256= .25 *To o* *5% = (
&VDSy . DIDIQ

7DVQiGL SyEHUI $C  $(%63RI $(*21
7DVQiGL SyEHUI 3 $(%63RIl $(*21
7DVQiGLQp 9DUJD 9INIyUD $C  $(%63RI $(*21
7DVQiGLQp 9DUJD QINIyUD 3 $(%63RIl $(*21
7DVQiGL SyEHUI $C  $(%63RI $(*21

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~Ii
$HQV] .IWG|S  6]HUJEGE (\VpJ  7ISXV 7DD  7DUDP  %LJNWilV -XIDIpN
7DVQiGL SyEHUI 3 $(%63RIl $(*21
7DVQiGLQp 9DUID 9INiylLD $C  S(U63RIN $(*21
7DVQiGIQp 9DUID QINIyUD 3 S(%63RII $(*21
&VDSy 5DPyQD
&6$3T 7,%25 $C  *$:z *5% 2 (

&ViV]il SyEHU

310IpU *LiQD 3 *$: - *5% - (
&VpSiQ\Qp *DUDL
6E1"25 . ,1*$ 3 *$z *5% - (

&VISHV =VX]VDQQ

6=8&6 6E1"25 3 *$:- % *5% = (
&VRUGiV 5y]vD
386=7% %($75,; 3 *To % *5%:-(

&V]UJR %ULILND

-+DIDVSDFN %! 3 5%z % *5% - (
&]XGDU OIKi\ /

3267%,05( 3 xmoox *5% - (
3267%,05( 3 *$z *5% 2 (

&IXSSRQ VIYiQ
&=203T /=,.T 3 *Ts oy *5%$ - (

= DJYDGRUI %D\DU

7$/$%e5 =2/7E1 3 *$z % *5$ = (
9%D\DUVDINKDQ - KRQJRU $C *TD * *5% = (
" pVL OiUID . DID

5%-.Tle 2%5E&= E*1(6 3 *$- * *5% = (
9DUJD ,UpQ ODUJL $C  *$- > *5$ = (
" pYDL *iERU

.(5(.(6-1T=6Q 3 *$z % *5$ = (
%$/2*+$1,.T 3 *$z )% *5% = (
9,"E.29,&6 5T%(57 ,679E1 3 *$z % *5$ = (
9,"E.29,&61e .29E&6 +,/"$ 3 *$z % *5% = (
6=3$%T "e.El< "$/0$ 3 8130* 81,21
" pYDL +RUYiIK -

& 6=$%T ,679E1 =62/7 3 *$z )% *5$ = (
717+ 5&+E5~ 3 *$z )% *5% = (
707+ 5T%(57 3 *$z )% *5$ = (
+2//(1781"(5 ./$8".$ 3 - *5% = (
%(1.2-8",7 3 *$z * *5$ = (
OE7e OT11,.$ 3 *$z- )* *5$5:- (
E/026 *(5*2 3 *$z * *5$ = (
OE7+e6= *E%25 3 *$z )* *5% = (
+8%(5 3e7(51e $C  *$:- )* *5$ = (
OLUNPHQ . Ii $C $(&P) $(*21
OUNPHQ . I 3 $(&$) $(*21
" pYpQ\L &VDED

O .l 3 56 % *5%:(

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~Ii

$HQV] .IWG|S  6]HUJEGE (\VpJ  7ISXV 7DD  7DUDP  %LJNWilV ~XIDIpN
*1Q\iNQp 5DIID
=6,*T 5T%(571e 3 *$: % *5% 2 (

*RER]L "RUQD

0(=2 (5=6e%(7 3 *$z * *5% = (
Oh//(5 .5,6=7,E1 3 *mzox *5$ = (
&ViIV]il *\|UI\Qp $C  *B:- ¢ *5% = (
“yly 7 QGH

*E%251e -$/,1$ (°,7 3 *$: )% *5% = (
(526 7.%25 3 *$z )% *5$ = (
3273E&=1e )$5%$*1 $1,7$ 3 *$z )% *5% = (
%(1&=ele Oh// (5 (5=6e%(7 3 *$z * *5$ = (
3DSS 7DPiV $C  *$: )™ *5% = (
(*<("1le %2.6E1 OE57$ $C  *$B: ) *5% = (
(*<("1le %2.6E1 OE57$ $C  *$:- =~ *5% = (
(*<("1le %2.6E1 OE57$ $C  *$:- * *5% = (
(*<("1le %2.6E1 OE57$ $C  *$:- =~ *5% = (
%HQF]H ZiV]ly 7DPiV $C  *$- ¢ *5$ = (
/81%$* _HUHVNHGHIPL pV 6]R $C $(&P) $(*21
“RURV]IDL (GYIQ

9%/.296=_, -E126 3 *= - % *5% = (
=U *D]GDJ .DID

"$-.%$0,./16 3 Hoo- *5$5:- (
"$-.Ele 6=$59E. $11$ OE5, 3 *$z - *5$ = (
(FVHGLQp %RV]H

.$6=%1<, "T5% 3 *$z % *5$ = (
(OHN *\ ] QI\YpU

%$%(& 6E1" 25 3 *$z )* *5$ = (
(PPHU -y]VHI

"g0g7g5 -E126 3 *$:- )% *5%: (
(UGHLQp 9 U]V,

-RYiFV 3plHU $C  *T:z * *5$ = (
7LKDQ\L $QGUHD $C  *B:- ¢ *5% = (
(UGpI\ )UDQ\Y $

(5e/<)5%1<T $113% 3 &/$66 $+,&2
)HKpU &VDED

.E663$5e.% .,1*$ 3 *$z ot *5%: (
3E6=725 -E126 3 *$z )* *5$ = (
)(+e51e )$5.$6 6=,/9,$ $C  *$: )™ *5% = (
YHNHIpQp 7yiK O

.,61e &625"E6 (5=6e%(7 3 Ty *5% = (
7,%258&= 7$OE6 3 *$z )* *5$ = (
.2&=Ele 7520)26 6=,/9,$ 3 xeoox *5% = (
.2&=Ele 7520)26 6=,/9,$ 3 *$z )* *5$ = (
%5T -E126 $C *T: o> *5% = (
%E5T1le 9(75T %$51$ -2+$11 $C  *T:z * *5$ = (
5e.$6, 5T%(57 $C  *B:- ¢ *5% = (
5e.$6, 5T%(57 $C  *$- > *5$ = (

HINHU OiulD OD

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
"52(@7.(5 .)7 3 5%: % *5% = (
03$57,1 %5$81 .)7 3 5%: % *5$ = (
WYiUHI =0 3 5%: % *5% = (
5(1" (6 6=$%2/&6 $C  *$- > *5$ = (
YHUHQFY UL 1HD
) (5(1&9E5, 1(77$ 3 o % *5$ = (
DR[ 7HUp]D
"$58 /E6=/T 3 o % *5$ = (
DU YDIG YHUHQF
%$5E7 -T=6Q) 3 *$z )% *5$ = (
DU YDIG YHUHQFQ
%$5E71e 6=2._ ( *$%5,(//$ 3 *$z )% *5$ = (
*DEHILFV $QQD ,
*$%(/,&6 7$OE6 $C - " *5$ = (
*DEHILFV 3piHU
*$%(/,&6 3e7(5 $C - " *5$ = (
*DEHIFV 7DPiV
-(A(< /E6=/T $C  *$:D * *5$ = (
*il ENRV
7T7+ -E1261e 672 *$:z * *5$ = (
/E6=/T1le 02/1E5 "T5% 3 wmoox *5% = (
/E6=/T1e O2/1E5 "T5% .25 *=:o * *5$ = (
/E6=/T1le 02/1E5 "T5% 3 *$- * *5% = (
/E6=/T1e 02/1E5 "T5% 3 *$z * *5$ = (
)$5.%$61e 0$~$5E6= (6=7(5 3 Rl *5% = (
*E/le %26E. 9,9,(1 3 *$z * *5$ = (
*E/ "EL,(/ 3 *$z  * *5% = (
)$5.$6 ,679E1le 3 *$z )* *5$ = (
" 20, &6S%S 3 *$z * *5%: (
/E6=/T 3E/ $C  *$:- )™ *5$ = (
/E6=/T 3E/ $C  *T:z * *5% = (
*e%(5 9,/026 3 *$z )* *5$ = (
*e%(5 9,/026 3 xeoox *5% - (
-(1( -E1261e $C  *$- > *5$ = (
*E/ E.261e $C  *B:- > *5% = (
-(1( -E126 $C  *$- > *5$ = (
+(5&=2* 0,+E/<1e $C  *$:- =~ *5% = (
+(5&8=2* 0,+E/<1e $C  *$- > *5$ = (
+(5&=2* 0,+E/< $C  *$:- =~ *5% = (
+(5&=2* 0,+E/< $C  *$- > *5$ = (
>0 (GINy
.29E&61e OE7e 0$5,$11% 3 *$:- $ *5$ = (
* 0 QINIYUD $G
386=7$)(5(1& 3 o % *5$ = (
*10Qp +HJIHGXV .
+2/ 0,+E/< ,679E11e 3 *$z )% *5$ = (
*E/le +(*("86 ./E5% 3 *$z )% *5% = (
“yVD 7tPHD ,UpQ 25 *$:- * *5%: (

*DUDPVIHIL ZiV]

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

RYiFV *\|]]



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$liQV] -GS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
9HUVDLV ,QIHUQDILRQD! 6% 3 8130* 81,21
= XQDVINU 3RIVIHURIINGUN 3 8130* 81,21
-$7+$7 _LYUHIH]R pV 6]R! 3 5$: * *5% = (
.$7+$7 _LYIHH]R pV 6]R! 3 5$: * *5$ = (
*D]GD OilIRQ
il -yJVHIH Y 3 5%: % *5$ = (
3l -yJVHIH Y 3 5%: % *5% = (
*RQGD /iV]ly
*21°$ /E6=/T 3 *$z % *5% = (
> |U]FV $ilD
-$1<T $1"5E6 3 *$:- % *5% = (
*|DEHF] 5HQilD
7yIKQp &]JHJpGL =VX]VD 3 - *5% = (
*UHJRU 3piHU (Q
*~|L =VX]vVDQQD 3 *$z % *5% = (
*|pllQIHU ENRV
1$*< *<g5*<le 3 *$z * *5%: (
1$*< *<g5*<le 3 *$z * *58:(
3%/,. 9(5% 3 *$z  * *5% = (
*XV]IRYiQ )HUHQF $C  *$: * *5$ = (
E%S$+EO -E126 =2/7E11le $C  *$:- =~ *5% = (
9%DNRQ\LQp 5XV]Q\iN OiUID $C  *$: * *5$ = (
6=$/217%, -1=6Q $C  *H: * *5% = (
$V]yG\ -y]VHI $(C *$:- x> *5%:(
$V]yG\ -y]VHI $C  *H: * *5% = (
$V]yG\ -y]VHI $(C *$:- x> *5%:(
6&+(5(5-8",7 $C  *H: * *5% = (
52),1e %256 €9$ $C  *$- ¢ *5$ = (
*UXEHU OiUD 9D
32=621< %$/E=6 (1"5( 3 *$z )% *5$ = (
*58%(5 OE5,$ 9%$/e5,$ $C  *B:- ¢ *5% = (
*XN\iVQp 7XINR
$*1&6 6E1"25 3 *$- " *5% = (
$*T&6 -8",7 3 *$- " *5$ = (
*XU]y EJQHV
0Oe6=E5261e %(1"(-8",7 3 o % *5$ = (
*\RUIL - UV]HQ
6=5(0.T .5,6=7,1% 3 *$z * *5$ = (
+iJD OKiNQp
)8&+6%(5*(5,02/% 3 *$z % *5$ = (
2526=5(1E7$ 3 *$- )* *5% = (
-$,6(5 (6=7(5 3 *$z * *5$ = (
+DIGXQp %RUEPQ\
%$1.-$ %e/Ele 3 *$z * *5$ = (
+DPDU ,PUH
1$*< 51%(57 3 * o ox *5$ = (
%8-"26T %(E7S$ 3 wmoox *5% = (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~I

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
+DUNTQ\L =VRIN
+$/E6= -E1261e 3 *$z )% *5% 2 (

+DIYDQL 6]UYLD
+$79$1, ES3E" 3 -- *5%$ - (

+DYDQFViIN OyQIN
85%E1l1e 717+ $/(;$1"5% $1 3 ww o ox *5%:(
85%E11e 7¥7+ $/(;$1"5% $1 25 *Toox *5% = (

+HIHG V /ZiV]yQ

5(*26 ,679El1le 3 *$:- $ *5% = (
+HIQHNQp QHUHFN

/,.725 ,/21% 3 *$z % *5% = (
*(5*(/< E*+=6T),$ 3 o % *5$ = (
)(-(6 -$7$/,1 3 *$z )% *5% = (
32//E. $11% 3 *$z % *5$ = (
+(1(-1e 9(5(&.(,0E5$ 3 *$z )% *5% = (
&6,6=E5 $/t= 3 *$z )% *5$ = (
3E129,&6 $1"5E6 3 *$z )% *5% = (
3E129,&61e 6=(%(5/,1* .5 3 *$z )% *5$ = (
717+ E*1(6 /t".$ 3 *$z )% *5% = (
9%$6 .5,6=7,1% 3 o % *5$ = (
+(7el<,-E126 0,./16 .25 *$:- * *5% = (
+(1(-1e 9(5(&.(, OE5$ 3 *$z * *5$ = (
+RIJKDXVHUQp 9DUID (U]VpE $C  *B:- > *5% = (
+RIJKDXVHUQp 9DUJID (U]VpE $C  *$- > *5$ = (
1$*< 3(75% $C  *$: *5%: (
+V]pNHQ\ . UV]

+HJHGXVQp - Wi\ -DIDIQ $C  *$: )™ *5% = (
+RIHVQp &VLJH ,

+2/(61e &6,*(,/21%$ 3 *$z )% *5% = (
+RUYilK ,PUH

3)%$)) 51%(57 3 *=: % *5% = (
+RUYilK OilD

SEVIRI~ ,QIDIDQ % 3 8130* 81,21
+ EHU -y]VHI

6=286 %(E7$ OE5,$ 3 xeoox *5% = (
6=2&6 %(E7$ OE5,$ .25 *=:o * *5$ = (
+XV] iU +DIQDIND

6=$%$"+(*< .5,67T) 3 wwoov *5$ = (
JLEVIFV *HUJH)

%/$6.T 3e7(5 3 *$- * *5$ = (
VINHUT $QGUiV

YC-(T($/(:$175% 3 *$- * *5$ = (
-1 JQHFV OlNiyVQ

5%% )$5.$6 )58=6,1$ 3 * o ox *5$ = (
5%$% %$/E=6 3 *$- )* *5% = (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
5%$% %$/E=6 3 wmoox *5% = (
+$/E6= 7,%25 3 *$z * *5$ = (

-DNDE . UV]IQD

02/1E5 /.//$ 3 *$z *5% 2 (
02/1E5 /,/1$ .25 *g: * *5% = (
*DIDPERVL VIViQ $C  *$z )* *5% 2 (

-1PERU (QGUH 7D

-EO%25 (1"5( 7$0E6 3 *$o * *5%:(
-XKiV] OiUID

67(*0%<(5 $11$ (5=6e%(7 3 *$z )% *5% - (
Yh/g3 ,679E1 3 Tz % *5% - (

-XKiV] QUPRV

. (5(6=7(6, /$-261e 3 *$z *5% 2 (
.(5(6=7(6, /$-261e 3 *$: * *5% - (
. (5(6=7(6, /$-261e .25 *$z * *5% 2 (
_DIRV =R0iQ Zi

%8=$, 0,+E/<1le 3 *$: )* *5$: (
+29%$1 (&= 5T%(57 ,05( 3 *$:- )™ *5%:(
-DNXN -iQRV

&6,.E51e 6=3%T (5,.$e9% 3 *Eoo* *5%:(
.DPDUiV 7LERU

. $O$5E6 7,%25 3 *$: % *5% - (
.DQi0 7 QGH

.$1E/7h1"( 3 *$:- )™ *5%:(
YUPPHUIQp ,KQilK ODUDQQD $C  $(W63RIK $(*21
YULPPHIQp ,KQilK ODUDQQD 3 S(%63RIK $(*21
YUPPHUIQp ,KQilK ODUDQQD $C  S(W63RII $(*21
YULPPHIQp ,KQilK ODUDQQD 3 $(WB3RII $(*21
%RGRU %i(LQI $C  $(W63RIK $(*21
%RGRU % 0LQl 3 $(%63RIIK $C21
YUPPHUIQp ,KQilK ODUDQQD $C  S(W63RII $(*21
YULPPHIQp ,KQilK ODUDQQD 3 $(WB3RII $(*21
%RGRU %i(LQI $C  $(W63RIK $(*21
%RGRU % 0LQl 3 $(%63RIIK $C21
e5, ,679E1 3 *$z * *5$5:- (
e5, 679E1 3 *$- * *5%: (
/HQIPQp -DQil -X1LiQQD $C  *$:z )* *5$ 2 (
.DO\y VIViQ

%$.21<, .5,6=7,1$% 3 =t o- *5$: (
&6(.ele .,6%(1(" (. OT1,.$ 3 *$o * *5% 1z (
- DUGRV %ilLQl

%(l.ele 386=7%,/,1"% 3 *$:z )% *5%:(
%(l.ele 386=7$, /,1"$ 3 %%z )% *5% 2 (
%(1.(0,./T6 3 *$: )% *5% 1z (
%(1.(0,./T6 3 %%z )% *5% 2 (
6,021 .251e/ 3 *$- % *5%:(
-=69 1DJ\NDQL]VD 6SHG . Ii 3 56 % *5%: (
-DSRV +RIGLQJ =UN 3 56 % *5%:(
-DSRV +RIGLOJ =U 3 5%z % *5% - (
3l -yVHI H Y 3 5%z % *5% = (
3L -yJVHIH Y 3 5%z % *5% = (
3l -y VHIH Y 3 5%z % *5% = (
$EURQFV _HUHVNHGRKi] - i 3 56 % *5%: (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~II
$liQVv] -G]S 6]HU]EGE (I\VpJ  7ISXV 7DWID  7DUIDP %] KWV -XID0pN
- (LFK *0DV +RIGLQJ =UNl 3 5%- -~ *5%: (
JLIKMHFK _ W 3 5% * *5%:(
$FFHI +XQIDQG - I 3 5%- * *5%: (
JO*< I 3 5% * *5%:(
%DIL 7LERU * i ERU $C  *$: )* *5%: (
&6$-E*+< *E%25 $C  *$:- H* *5%:(
-RQFVIN *\ JUJ\. ODUDQQD $C  *$: )* *5%: (

-DUGRV *\ JUJ\

6DQGYIN ODINDURIV]iJ - Il 3 8130* 81,21
%h771(5 .)7 3 8130* 81,21
$IRKD ,QIRUPDILNDL - I 3 8130* 81,21
EXGPU . I 3 8130* 81,21
$*, +XQJilD - I 3 5%: % *5% = (
+DIDVSDFN %l 3 5%: % *5$ = (
12/$72 ODI\DIRW]iJ . Ii 3 5%: % *5% = (
O .l 3 56 % *5%:(
.DSRV +RIGLQJ =Ul 3 5%: % *5% = (
il -yJVHIH Y 3 5%: % *5$ = (
=|S 7HFKQRIRJLHV . I 3 5$:- = *5% = (
+26 7$0E61e 3 *$z * *5$ = (
.$=,18=<=2/7E1 3 *$- * *5% = (
-(/(0e5 =68=6$11% 3 *$z * *5$ = (
. (/(0e5 =68=6$11$% 3 *$z  * *5% = (
-(/(0e5 =68=6$11% 3 *$z * *5$ = (
.$=,18=< %(6( W (51$" (77 3 *$z * *5% = (
.$5726 *<g5*< $C  *$- > *5$ = (
<% . HUIHVNHGHIPL pV 6]R)J $C $(&P) $(*21
<%* . HIHVNHGHIPL pV 6]R1J 3 $(&$) $(*21
%0% = RN . I $C $(&P) $(*21
%0% = RUN . Ii 3 $(&$) $(*21
*16=_I $(C $(&$) $(C*21
*16=_li 3 $(&$) $(*21
. DUVDL %HilD

)(+e59E5, /*,.T$11$ 3 o % *5$ = (
. DUVDL ™ §QLHD

9(5.0%1 /E6=/T O,+E/< $C  *$- > *5$ = (
.E5E6=-T=6Q) $C  *B:- > *5% = (
.DUVDL MIYiQ

Oe6=E5261e 68+$011,.$ 3 *$z )% *5% = (
6=$/%, /E6=/T 3 * o ox *5$ = (
%5$8167(,1 /E6=/T1e 3 *$- )* *5% = (
6=2.2/%,1e O$7E1&6, 6=,/9 $C  *$- ¢ *5$ = (
- 1IDL *HUJHN 9

$EURQFV - HIHVNHGRKiT] - Ii 3 5%: % *5$ = (
$IRKD ,QIRUPDILNDL - I 3 8130* 81,21
.DSRV *pS eV] 6]RWJiliDly $C $E&P) $(*21
.DSRV *ps eV] 6]RIJilIDly 3 $(&$) $(*21
-HIDLZiV]ly -y

.E7$,3e7(5 3 Tz % *5% = (
-D\VHU 3plHU

$*, +XQJilD - I 3 5%: % *5% = (
12/$72 ODI\DIRW]iJ I 3 5%: % *5$ = (
12/$72 ODI\DIRW]iJ . Ii 3 5%: % *5% = (
12/$72 ODI\DIRW]iJ I 3 5%: % *5$ = (
WYiUHI =0 3 5%: % *5% = (
%0% = RUN . I $C $E&P) $(*21
%0% = RN . I 3 $(&$) $(*21

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
-HHPHQ ,VIYiQ
6E)5E1 =62/7 3 *$o * *5%:(
6E)5E1 =62/7 .25 *$:- * *5% = (
6E)5E1 =62/7 3 *$o * *5%:(
6E)5E1 =62/7 .25 *$:- * *5% = (
%RURV " H]V] /HYHQIH $C  *$- > *5$ = (
%2526 (6=7(5 $C  *B- > *5% = (
- HUpNI\iiUly 1yu
_HUpNJ\ iUy 1yUD $C *To-o* *5%:- (
-LVSiil OyQIND +
%e5&(6 *E%25 52/$1 " $C *T: o> *5% = (
"20%, 6E1" 25 $C  *$:- )* *5$ = (
-WVSil SyEHUI -
(/,6&+(5 &63$%ELe 3 o % *5$ = (
./,0T -T=6Q 3 *$z % *5% = (
.29E&6 $77./$ &6$%$ 3 *$z % *5$ = (
-IW (U]VpEHI *
%$.21<, =68=6$11$ 7(5e=,$ 3 *$z )* *5$ = (
3T&6 $/(;$1"5% 3 *$z * *5%: (
6=E17T %$/E=6 3 *$z * *5$ = (
6=(/(6 .5,6=7,1% 3 *$z )* *5% = (
=$9$&=., *$%5,(//$ 3 * o ox *5$ = (
=$9%$&=., *$%5,(//$ .25 *=:o * *5% = (
-$.86 6E1"25 3 *$z * *5$ = (
=20%25, $77,/$ $C *TD o* *5% = (
- WV *DEUHID
6=$%T /t".$ 25 *Toox *5% = (
-IW 1yUD
02+$, 7$0E6 3 *$- $ *5% = (
6h/(,679E11le 3 *$z % *5$ = (
.IWQp -RYiFV,
61UV -y]VHI $C  *$:- )™ *5$ = (
.LWQp 6]DEy 7H
,17(5%.-7t9 %7 3 5%: % *5$ = (
%T&=1e 7$.E&6 3,526.% 3 *$- " *5% = (
717+1e 7$.E&6 /=,.T 3 *$- " *5%:(
707+ %(" (e9% 6=,/9,% 3 xeoox *5% = (
707+ % (" (e9% 6=,/9,% .25 *=:o * *5$ = (
6IRIED -HQRQp 3 xeoox *5% = (
%2"1E51e "2021<, =68=6% 3 *$z * *5$ = (
- IVJOHU —yJVHI
- IVJOHU -yJVHI $C  *$- ¢ *5$ = (
- V]0HU $QGUiV $C  *$: )™ *5% = (
-IV](HUQp 7DIDERV ODJGRIQ $C  *$- ¢ *5$ = (
-0pEHU 7LPHD
-/e%(5 7,0($ 3 *$z )* *5$ = (
- | ElL $D
*UHIQHU %R 2QH +XQJDI\ - 3 5$: * *5$ = (

- RIRVD +HQULHIN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

RYiFV *\|]]



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
5%$-&6E1<, =2/7E1 3 *$- * *5% = (
&6(//( &6$%$ 3 * o ox *5$ = (
02/1E5 (5=6e%(7 3 wmoox *5% = (
5%$",&6 ,679E1 3 *$z * *5$ = (
5%$-,&6 ,679E1 .25 *$- * *5% = (
-RIRViQp +RUYill
=62/1$, 7$OE6 3 *$z * *5% = (
5%$",&6 ,679E11le 3 *$z * *5$ = (
5%$-,&6 ,679E11le .25 *$- * *5% = (
S5R]V %DIi ]V $C  *Tz * *5$ = (
.2/26% (59,1 $C  *$:- > *5% = (
.2/26Ele +259E7+ 9% $C  *Bp:- > *5%:(
-RURQIRV ODJGRI
3(720,./76 3 *$z * *5$ = (
-RVIHJIQp *i0 $
+RUYilK 7DPDUD $C  *$:- )* *5$ = (
-RYiFV MIViQ
1$*< 7$0E6 6E1"251e 3 *$z )* *5$ = (
/$*<9,. /E6=/T 3 *$z * *5% = (
-RYIFV -XGli
)./ (/E6=/T 3 *$z - *5% = (
)./ele %,0%1 0$5,$11$ 3 *$z - *5$ = (
3$7$.,1e *<25% 5T =,E1$ = 3 *$- " *5% = (
68%,&=$1(77 3 *$z * *5$ = (
68%,&=$1(77 3 *$z )* *5% = (
-RYiFV OlNoyV
.29E&6 0,./T6 3 *$z * *5% = (
-RYiFV 7 QGH
) (+e5 =68=6$11% 3 *= - % *5% = (
$8(5 -T=6()1e 3 *$z - *5$ = (
-R]iU $QNy
.2=E5-E1261e 3 *$z - *5$ = (
-R]iU -iQRVQp
"(E. 6=3/%< (5,-$ 3 *TI oy *5% = (
-R1PDQp =VIURV
6=3$%T O(/,1"$ 3 o % *5$ = (
- XQ 7LERUQp
2526=)(5(1& 3 *$z )% *5$ = (
+259E7+ %(E7$ 3 *$- )* *5% = (
glY]V Ziv]ly $C  *$:D * *5$ = (
/DIIRV -y]VHI
/$-726 *$%5,(//$ 3 *$z )% *5$ = (
1e0(7+=7$0711,.$ 3 *$z )* *5% = (
)$5.$6 $1"5($ 3 *$z * *5$ = (
/DNL . UVIIQD
"e6, OE57$ .$7$/,1 3 *$z )" *5$ = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

RYiFV *\|]]



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
/DQJD OyQIND
1$*< ./$8".$ 3 *$: 9% *5%: (
/HQGYDL VIYiQ
6&+g19(,7=6E1"25 3 *$: )" *5% = (
/HQJI\HIQp &VHIH
%(5(*6=E6=,1e %5T 6=,/9, 3 *$:- % *5% = (
6=$%1 =2/7E1 /$-26 3 *$z % *5$ = (
717+ )(5(1& ,679E11e 3 *$: )% *5% = (
717+ )(5(1& ,679E1 3 *$: )% *5% = (
/HIQHUQp -iV]Vi
=,771(5 * (5750~ 3 Tz % *5% = (
)25671(5 =68=6$11% 3 *$z )% *5% = (
)85e6==2/7E1 $C  *$:- )* *5$ = (
/WU MIYiQ
6&+0,"7 *$%5,(//$ -2/E1 672 *$: )* *5$ = (
-RYiFV ZiV]ly 7DPiV $C  *B:- > *5% = (
7DNiFV _(ilD $C  *$:- )* *5$ = (
)UDQNy 7DPiV $C  *$: )™ *5% = (
/,67E51e .29E&6 %25%E/$ $ $C  *$B:- ) *5% = (
72/1%, €9% $C *$: )* *5%: (
%HQ\RYVIN\ OyQIND OiUD $C  *$- > *5$ = (
.$1,=6%,1e .561,&=5,7$ 0 3 *$- )* *5% = (
/,67E5 ,679E1 3 *$z )* *5%:(
% (" (5 (6=7(5 3 *$z )* *5% = (
%8-%E&=, %5,*,77$ 3 *$z )* *5$ = (
%(1&=( %$%(77 -8",7 3 *$z )* *5% = (
S5E&= _/E5$ 3 *$z )* *5$ = (
Yh567(1+2)) (5 =6$1(77 3 *$z )* *5% = (
/iU VIYiQ
.$1,=6%,1e .561,&=5,7$0 672 *$: )* *5% = (
/,67E5 ,679E1 672 *$:- )* *5% = (
%, (" (5 (6=7(5 672 *$:z )* *5% = (
%8-%E&=, %5,*,77$ 672 *$: )* *5$ = (
%(1&=( %$%(77 -8",7 672 *$: )* *5% = (
S5E&= _/E5$ 672 *$: )* *5$ = (
Yh567(1+2)) (5 =6$1(77 672 *$: )* *5% = (
/WVTIHV %HUHF]
ODUyil EGiP 3 *$:- % *5% = (
/RUQF] 7yiK -X
=$_+$5 7$0E61e 3 *$z % *5%: (
ODGHU ,VIYiQQp
675(1* ,679E11le 3 Ty *5% = (
6202*<,1e 0(,/,1*(5 (5,-$ 3 *$z )* *5$ = (
6202*<,1e 0(,/,1*(5 (5,.% 3 xeoox *5% = (
ODGHU 6D
720%25 /E6=/T *<g5*< 3 *$- * *5% = (
-ORFN =y]VHI $C  *$:D * *5$ = (
ODJ\DU =VDQHIl
1$*< $77,/$ ,679EL 3 *$z % *5$ = (
ODQGLFV 7tPHD 7

%66 %URNHU 6HUYLFH 6\VIHP

THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
6E>, 3E/ 3 *$z - *5% = (
ODUFLV =VX]VD
.29E&6 -T=6Q) 3 xeoox *5% = (
OiUNXV $IDIRV
58%(&=1e 6=$/$, 5,7$ 0$5, 3 Sl ) *5% = (
58%(&==2/7E1 3 Tz % *5% = (
*("( -$7$/,1 3 *$z )% *5%: (
OE5.86 $/$-26 3 *$z )% *5$ = (
-8+E6= OE57$ 3 *$z )% *5% = (
)(+e5-8"7 3 *$z - *5$ = (
+$5126 %e/Ele 3 *$: )" *5% = (
.,661e %$.26 (~,7 3 *$z )* *5$ = (
717+ OE5,$ 3 *$- )* *5% = (
717+ OE5,$ 3 ww o ox *5%:(
/iQJ 9LYIHQ 3 *$z )* *5% = (
-8+E6=/E6=/T1e 3 *$z * *5$ = (
OiUNXVQp 6] INH
ODIHUQp OH]R . DIDIQ 3 *$z * *5$ = (
ODWL &VDED Sl
ODUVL &VDED $iiliD $C  *$:- )* *5$ = (
ODUVL $liLiD $C  *B:- > *5% = (
OiUIRQ (UJVPEHI
%2~ ,86, 5e.$ 3 *EooT *5%: (
le*<(6,)(5(1& E53E" 3 *$z * *5$ = (
ODUIRQ -iQRVQp
%e.e6, (5,-$ 3 *$z - *5$ = (
%e.e6, (5,-% 3 *$- - *5%: (
.29E&6 (6=7(5 3 *$z * *5$ = (
OilIRQ OlNiyV -
%25266%$ 3e7(5 3 *$z * *5$ = (
ODUIRQRVL -y]VH
0$572126, -1=6() /E6=/T 3 *$z * *5$ = (
0$572126, -1=6() /E6=/T 3 *$z  * *5% = (
ODIN\Ny eYD
7$5-E1<, 3$75&,$ 3 ol *5% = (
7h7+1e $17%/ 9,2/ (77$ 3 *$z )* *5$ = (
ODXIV OIKi\
9e.21< 02/1E507T1,.$ 3 *$z % *5$ = (
OHGRYDW]NL -XG
/$8) (5 =63$1(77 3 *$z - *5$ = (
OpV]ilRY *\ U\
6=$%1 -8/,$11% 3 *$z )% *5$ = (
OH]R (UIVpEHI
6h9(*(6 E53E" 3 *$z % *5$ = (
6h9(*(6 E53E" 3 *$z % *5% = (
5T=6E6 ,679E11le 3 *$z % *5$ = (
0(=2 (5=6e%(7 $C  $(%B3RIK $(*21

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVHIPpQ\HIV] i PRIV

RYiFV *\|]]



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
0(=2 (5=6e%(7 3 $(W63RINIK $(*21
OH]R ZiV]ly
%(57$ /E6=/T1e 3 *$- * *5% = (
%(57$ /E6=/T1e .25 *$- * *5$ = (
%(57$ /E6=/T 3 wmoox *5% = (
%(57% /E6=/T .25 *Toox *5% = (
-1/ (5 *E%25 3 xeoox *5% - (
-/7/(5 *E%25 .25 *":o * *5$ = (
.$.$6 .5,6=7,1% 3 wmoox *5% - (
"20%, -8~,7 3 *$z )* *5$ = (
OL(HL SyEHUI
5$6=729,&+ 0,./16 3 *$z % *5$ = (
0LQD 3plHU
+2*<e6=, $*52.e€0,$, .)7 3 8130* 81,21
+]J\pV]L SIRNpPLD . Ii $C $(&P) $(*21
+]J\pV]L $IRNpPLD I 3 $(&$) $(*21
OL]VH. OHIND
GBG-(6, (/1 3 wwoov *5$ = (
0,=6( O(/,77$ 3 wmzo *5% - (
2/E+$1,7$ 3 * o ox *5$ = (
ORIQiU *\|UJ\Qp
02/1E5 *<g5*< 3 *$z )* *5$ = (
)$5.$6 *(5* (/< 3 *$z * *5% = (
OXFVL OFUNXV .0
6,. (7 6=$%2/&6 3 wmoox *5% - (
&6$-E*+< *E%25 $C  *$:- )* *5$ = (
1DJ\ *iERU
705, ,679E1 1E1"251e 3 o % *5$ = (
6=3$%1 ,679E1 3 *$:- % *5% = (
8--3e7(5 3 o % *5$ = (
6,021 0$.T5e.% 3 ol *5% = (
1DJ\ /DIRV
2/E+ ,679E1 3 *$z - *5% = (
1$*< *(5* (/< 3 * o ox *5$ = (
1$*< "E1,(/ 3 wmoox *5% - (
3g67el<, ,679E1 3 *$z  * *5%:(
+RUSTFVIN -y]VHI $C  *T:z * *5% = (
/DYDI eYDH Y $C $E&P) $(*21
/DYDIeYDH Y 3 $(&$) $(*21
1pPHIK =VRIIQp $C  *$- > *5$ = (
1DJ\ ONYVQp
3(53e. *<g5*<le 3 *$z % *5$ = (
1DJ\ 1RpPL
1$*< 12€0, 3 * o ox *5$ = (
1DJ\ 6iQGRU
" |PVH eYD $C  *$:- )* *5$ = (
" |PVH eYD $C  *B:- ¢ *5% = (
1DJ\ 7LERU
+$5%$1*, -1=6Q) 3 - *5% - (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
%$6$ (59,1 3 *$z - *5%: (
0e6=E526 =2/7E11le 3 *$z - *5$ = (
+259E7+ ,679E1 3 *$- " *5% = (
7I7+ $1°$ (6=7(5 3 * o ox *5$ = (
1DJ\ .DPSHU Up
(5726 -1T=6()1e 3 *$z * *5$ = (
&6,3.T /E6=/T 3 xeoox *5% = (
1DJ\Qp -RYiFV O
6("21$77,/$ 3 *$z - *5% = (
6( 21 (1,.2 3 *$z - *5$ = (
)(.(7ele .,66 $11% 3 - *5% = (
%$57$ 7,%25 3 *$z * *5$ = (
1pPHIK $QQD
1$*< *<8/$ 3 *$z * *5$ = (
-$186 7$0E6 $C  *$: )™ *5% = (
1pPHIK VIYiQQp
.(&6.e6 .$7$/,1 3 *$z - *5% = (
1pPHIK 7LERIQp
1e0(7+ 7,%251e 3 *$- - *5%: (
2VI\iQlL /DIRVQp
1e0(7+ $77,/% $(C *$c- )* *5%: (
1e0(7+1e 0$*T1&6 2562/<$ $C  *$:- )* *5$ = (
3iEMH 7DPiV
NGV e 3 *$z * *5$ = (
)h=(6 &63%$ 3 *$z  * *5% = (
3iEHQp OHVIHU
-8+E6= ./E5% 3 *$- $ *5% = (
3il-y]VHI 7iV]
0ol15&=/E6=/T 3 *$:- % *5% = (
3DUDJL -y]VHI
9$5-0 9(521,-$% 3 xeoox *5% = (
9$5-0 9(521,.$% 3 *$z * *5$ = (
&=8"$5 0,+E/<1le $C  *B:- ¢ *5% = (
3iSHV . RUQPID
5XV]IQ =RUiQ $C  *$: )™ *5% = (
3DSS ,IRQD
1$*< (5,.$0$*"2/1% 3 *$z )% *5% = (
3DV]IQJHU . DI
EXGPU - Il 3 8130* 81,21
%0% = RUN . Ii $C (&) $(*21
%0% = RN . I 3 $(&$) $(*21
3HUKiFV (V]IHU
/(5 -$7$/1 672 $(%63RIIK $(*21

%66 %URNHU 6HUYLFH 6\VIHP

THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
31QIpl " VLG
72/1%, %(E7$ 3 *$z )* *5% 2 (

3RIKXUV]NL $QGU

)IRUQ =i 3 5%: % *5$ = (
12/$72 ODI\DIRW]iJ . Ii 3 5%: % *5% = (
12/$72 ODI\DIRW]iJ - Ii 3 5%: % *5$ = (
S$Ot= K 3 5%z % *5% = (
$EURQFV - HIHVNHGRKiT] - Ii 3 5%: % *5$ = (
$EURQFV - HUHVNHGRKi] - Ii 3 5%: % *5% = (
SUVIFV Sl

/T ., &63%$ 3 *$z )" *5% = (
3URVLIVQp 6ill

3$5E", =68=6$11% 3 *$- * *5% - (
5DGYiQVINL 5LID

&=9(71,&6 ,679E1 3 *$- * *5% = (
.$1,=6%, $1(77 OE5,$ 3 * o ox *5$ = (
SDGYiQV]NL =Rl

-8+E6=1e "e9$, $1,7$ 3 *$z % *5$ = (
+E026 *E%25 3 *$z )% *5% = (
675$86=,679E11e 3 *$:- )" *5%: (
%8.25 7h1~( 3 xeoox *5% = (
%8 .25 &6$%$ 3 * o ox *5$ = (
5iN 9UPRV

6=8", /E6=/T -E1261e 3 *$z )* *5$ = (
6INDERQ\L 9iQFVD ,(GINy $C  *B: > *5% = (
6,.$%21<, 3e7(5 %$/E=6 3 * o ox *5$ = (
5pSiV 5RPiQ

*(,6=7,%25 $C  *$- > *5$ = (
"e9%, *E%25 $C  *$: > *5%: (
YU/ (>, 3e7(5 $C  *$:- )* *5$ = (
SRKi\ SyEHUI

3$7$., $1"5E6 -T=6() 3 *$- " *5$ = (
6DID.Qp ORVFK

-29E&6 ($75,; $C  *$- > *5$ = (
6i\Qp =HPQIFIN

"$//26 &6(/(6=.,9(521,.$ 3 o % *5$ = (
6iQID %DUEDUD

6E17$=62/7 /$-26 3 *$z % *5%: (
6=2.(/E6=/T $C  *B: > *5% = (
GFKIHLHU - UV]H

6&+/(,(5 -5,6=7,1% $C - " *5% = (
6FKPLGI -y]VHI

ODIRURV _(iUD 3 *$z % *5% = (
1$*<9,.725 .25 *To o* *5$ = (
7$8) (5 /E6=/T 3 *$z )* *5% = (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
6FKPLGIQp 9DVD)
58)) $1"5($ 3 xmz - *5% 2 (

6LPRQQp ,(RQND

0875,6 $1"5E61e 3 *$:- $ *5$ = (
62716 =2/7E1 $C *T- * *5% = (
6LSRV -XILiQQD

1$*< B6E1"25 3 *$:- % *5% = (
1$*< 6E1"25 3 *$z % *5$ = (
1$*< B6E1"25 3 Tz % *5% = (
6PXID *\]QJ\L

-$1°=67T -E126 3 *$- * *5% = (
%27 0,./T6 $77,/$ 3 *$z * *5$ = (
6IHIQQp *RGy EJ

6=(/(6 ,05( =2/7E1 $C  *$- > *5$ = (
6IRIED -HQRQp

+HUVLFV *UpiD $C  *$- ¢ *5$ = (
GIURE|Q *DEUH

8/%.,1e %$51%$ OE5,$ O$* "2 .25 *$- * *5$ = (
9e*+1le 6=(3(6, %2/<$ .25 *=:o * *5% = (
BIXFKIN ZiV]ly

%$57$ 7,%25 3 *$z  * *5% = (
%$57$ 7,%25 3 *$z * *5$ = (
1e0(7+ 7,%251e $C  *$:- 0~ *5%: (
6]DEy *p]D

+$%T.1e 1<,/$6 .$52/,1$ 3 *$: % *5%: (
6]DEy ,IGINy

5e), ,679E1 .25 *$:- * *5% = (
6]DEy .RYiFV -i

6=E6=, )(5(1&1le 3 *$- * *5% = (
+]J\pV]L $IRNpPLD I $C (&) $(*21
+]J\pV]L SIRNpPLD . Ii 3 $(&$) $(*21
6]DEy OillD

%0% = RN . I $C (&P $(*21
%0% = RUN . Ii 3 $(&$) $(*21
*1 6=l $C $(&P) $(*21
*16=_li 3 $(&$) $(*21
6]DEy =RliQ

6(5)2=2-E126 -T=6()1e 3 *$z * *5$ = (
6=(17(/$-261e $C  *B- > *5% = (
6=(17(/$-261e $C  *$- > *5$ = (
6]DEy .RYiFV -i

+2*<eb=, $*52.€0,$, .)7 3 8130* 81,21
&=,5E.,1e 9$5*$ (5,.%$ 3 *$z * *5$:- (
6=E6=, )(5(1&1le 3 *$z * *5$ = (
+]J\pV]L SIRNpPLD . Ii $C (&P $(*21
+]J\pV]L $IRNpPLD _ I 3 $(&$) $(*21

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I
$iQV] . JNIG|S 6]HU]EGE (I\VpJ  7ISXV  7DWID  7DUIDP  %LJW 1w -XIDIpN
6]DIDL *iERU
EXGPU . I 3 8130* 81,21
$IRKD ,QIRUPDILNDL . Ii 3 8130* 81,21
%DJIRN 5pND $C  *$: )™ *5% - (
7]0]ViQp 6]iQly .DID $C  *$- ¢ *5$ = (
6]DIDL 3piHU $C  *$: )™ *5% - (
%0% = RUN . Ii $C (&) $(*21
%0% = RUN . I 3 $(&$) $(*21
6]DPRV -y]VHI
3$3 3e7(5 3 *$- $ *5% = (
6]pFVL ,IGINy
.6 %L (- 5T%(57)(5(1& 3 *$z )% *5% - (
.5,37$ 0,+E/< ,679E1 3 *$z % *5%:(
6]HGPIN /ZiV]ly
.5,67E/<=62/71e 3 *$z )% *5$ = (
6]HJIHGL %pliQp
6=(0(7, .5,6=7,1% 3 *$z - *5$ = (
G]HLIHU -y TVHI
6]DEy 6FKPLGI . DIDIQ (UL $C *Tz o* *5$ = (
6]HNpU =VRI
%252661e 785&6E1 OES,$ 3 w*woow *5%:(
1$*<1,.2/(77$5,7% 3 wwoo *5% - (
6=(.e5 OE5. $C  *$- ¢ *5$ = (
6]HNpU =VRIQp
9(7e6,9,.725 3 *$z % *5$ = (
6]HPHIL 20D
. yiDL ODUDQQD $C  *$- ¢ *5$ = (
6IHLIHUYDIG )HUHQF $C  *$: )™ *5% - (
&]DEDL =VRI ,\VIYiQ $C *Tz o* *5$ = (
&]DEDLQp . HQ\pUL QHURQIND $C  *B:- ¢ *5% - (
6]HPHIL 6iQGRU
- yibL ODUDQQD $C  *B:- > *5% - (
6]HQIHV &VDED
OE7e 3e7(5 3 *$:- $ *5% = (
6]WiliyQp . 1
6=,-E57T1le . 1e0(7+ (.7 3 Ty *5% = (
9/28&6.71 %E/,17 3 lall- *5%:(
6]LPIHIQp OHGYH
6=806.%,5(1% 3 *$z % *5$ = (
6]WEHN 7LERUQp
6=,5%( . %E/,17 3 *$z * *5$ = (
6]WEHN $QQD $C  *B:- ¢ *5% - (
6]RNH $liNiQp
6LPRQ )HUHQFQp 3 *$z % *5% - (
%66 %URNHU 6HUYLFH 6\VIHP
THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVI %XGDIRNL ~II

$IHQV] . IVIGIS  6]HUIEGE @I\VpJ  7ISXV  7DUID  7DUIDP  %L]W WV ~XID)pN
-8+E6=1e *<(1(6 O(/,.1"$ e 3 *$z )* *5$: (
6=2_( $77./Ele 3 *$z )* *5% = (
6=2_($77,/Ele 3 wmoox *5% = (
6=2.($77./Ele 25 *To ox *5%: (
6]pNHNL (UND $C *$: H)* *5%: (
7DNiFV (Gl $QQ
1e0(7+ *<gl*<, 3 hall-ed *5%: (
5yND eYD $(C *$:z * *5%:(
7DNIFVQp +RUY !
+259E7+ (",1$ 3 *$z )* *5% = (
6&+8%(57 =2/7E1 3 wmoox *5% = (
7DWy +DIQDIND
1$*< *(5*2 $C  *$:- * *5%: (
7DWRIN ZiV]ly
+h6ele E*26721 .$7%/,1 (5 3 *$:z - *5%: (
7Dliil OWNyVQp
+$-1$/ %e/$ 3 *$: $ *5%: (
THIHN =RIiQQp
.25201e 78.%$86 /", T 3 *$z )* *5$: (
6=$%T1le 2/E+ 9% 3 *$z )* *5% = (
$1"5e *<(1(6 7h1"( 3 *$z )* *5$: (
$1"5e *<(1(6 7h1~( 3 xToox *5%: (
$1"5e &63%S$ 3 *$z )* *5%: (
$1"5e &6$%$ 3 *Eoo* *5%:(
.2520 (5,. 1E1"25 3 wmoox *5% = (
)2"251e 3$33 E*1(6 3 *$o * *5% = (
1$*<le 6202*<, .$7%$/,1 3 *Eoox *5%: (
9DUJID %piD 3 *$z )* *5% = (
9,=, OE5,$ $C  *$:- )™ *5%: (
7ylK 7DPiV /DIRV $C  *$: )* *5%: (
%25261e )$5.$6 .5,6=7,1$ $C  *$: * *5$: (
%(5el<, -8",7 $C *$:z *5%:(
-HIHPHQ %DUD\ $QINy +DQQ $C  *$: )* *5%: (
6=$59%6 ) (5(1&le $C  *$: )* *5% = (
6=$59%6 ) (5(1& $C *$: )* *5$: (
&6E ., =68=6%$11%$ $( *$: )* *5%:(
&6E ., =68=6$11% $(C  *tz o> *5$: (
%$7+1 (5,.$ $C  *Fmzo* *5%: (
THUFVL ZiV]ly
037 6HFXUIN =Ull 3 56 % *5%:(
THUFVL ZiV]ly O
6DQGYIN ODJI\DURIV]iJ - I 3 8130* 81,21
-DSRVYilL 9DI\RQNH]HIR =U 3 56:- % *5%: (
$IRKD ,QIRUPDILNDL - I 3 8130* 81,21
.E/OE1 ,679E1 &63$%$ 3 *$z )% *5% = (
"52(7.(5.)7 3 5%z % *5%: (
7,6=$7.352-(.7 .l 3 5%z % *5$: (
$EURQFV - HUHVNHGRKE] - IW 3 56 % *5%:(
EXGPUW - W 3 8130* 81,21
217 (5758&. $*(1&< =l 672 5%z * *5%: (
+HJIHGXV $QGUiV $C  *$: * *5% - (
+HJHGXVQp %DIRIK 6]10YLD $C  *$: * *5% = (
%0% = RUN . I $C $(&P) $(*21
%0% = RN . I 3 $(&$) $(*21
*16=_li $C (&%) $(*21
*16=_li 3 $(&$) $(C21

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

RYiFV *\|]]



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN

7pVL $QQD OillD
78*<, /$-26 3 *$: % *5%: (

7KISSKDYRQHQp &

7+,33+$921( "821*6< 3 *$:- $ *5% = (
7\Pil (RQD

SDNRYV]N\ *\XID ,VIY§QQp 3 Sl *5% = (
7\V]D .DPUWD =

67$1.29,76 “E9," $C  *$:- > *5% = (
$** -1=6() *e=$ $C  F$:z * *5%: (
7yND (UIND

-iVD "RQill $C  $(%63RIIK $(*21
- iVD "RQill 3 $(%63RINIK $(*21
7T.% "el(6 $C  $(%B3RIIK $(*21
71.$ "el(6 3 $(%63RINIK $(*21
7RNDL =lID Oill

%$.7$, ,679E1 3 *$z )% *5% = (
7RPDQ ,IRQD

720%$1 ,/21% 3 *$- ¢ *5% = (
7 JUFVY iUl =VRIN

795&69E5,1e *<T1, 0$5,$11 $C  *$B: ) *5% = (

7RUPiQp OXIN O

7RUPD pV 7iWD - Il 3 5%: % *5% = (
7RUPD pV 7iWD . I 3 5%: % *5$ = (
7RUPD pV 7iWD - Il 3 5%: % *5% = (
7250% 6E5% 3 *$z % *5$ = (
7]UIN (UND

1<,/$6 O,/E1 3 ww o ox *5%:(
7RVpU &VDED

726€e5 &6$%$ 3 *$z )% *5$ = (
%$57$ 7,%25 3 *$z  * *5% = (
7yiK $QGUHD

*1 6=l $C $(&P) $(*21
*16=_I 3 $(&3$) $C*21
7yiK 6]UYLD

*5e&=, (0,/ 3 815,6 81,21
+RIGD\ 3DUIN BHUYLFH Il 3 815,6 81,21
*16=_li $C (&) $(*21
*16=_Ii 3 $(&$) $(*21
7ylK 9DIpUD

02/1E5 /E6=/T 3 *$:- % *5% = (
7yIK 9HURQIND

+259E7+ *E%25 3 *$:- % *5% = (
/(03(/ -E1261e 3 *$z * *5$ = (
/(03(/ -E126 3 *$z * *5% = (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
0(6=$526 63$1~251( $C  *B:- > *5% = (
7ylIKQp %DJy =VX
7017+ 7$0E6 3 *$:- % *5% = (
7yIKQp 7ULSDN =
+DIDVSDFN %l 3 5%: % *5% = (
7XJ\L /DIRV
78*<, 115% 3 *$z )% *5% = (
8l -y VHI $iL
-$1.<6E1"25 3 *$- " *5% = (
8YDFVHN &VDED
893%&6(. .5<67<1% "$187% 3 *$z % *5% = (
085E7, 7t0($ $1°5($ 3 *$z )" *5$ = (
%2=1E5 $1,.T 3 *$- )* *5% = (
893$&6(-1e $5, =68=6$11$ $C  *$:- )* *5$ = (
893%&6(. .5<67<1$ "$187$ $C  *B:- > *5% = (
8YDFVHN .U\VINQ
89386(. 0%$57,1% .5,6=7,1$ 3 *$z % *5% = (
89%$&6( . 7$OE6 &63%$ 3 *$z % *5$ = (
89386 (. &63$%$ 3 *$z % *5% = (
89%86(. 0$57,1$ .5,6=7,1$ 3 *$z )% *5$ = (
893%&6(. .5<67<1$ "$187$ 3 *$z % *5% = (
9DFVL ,IRQD ,1G
0,.(&=,679E1 "el(6 3 *$:- % *5% = (
9iJy -iQRV *\R]
9E*T -E1261e $C  *$- * *5% = (
9iJy -iQRVQp
3E3%$,1€ 3216 ,/°,.T 3 *$:- % *5% = (
3E3%,1e 3216 ,/°,.T 3 *$z % *5$ = (
3E3%, -E126 3 *$z % *5% = (
3E3%$, -E126 3 *$z % *5$ = (
9E*T -E1261e 3 Hoo- *5$5:- (
9E*T -E1261e 3 *$z - *5$ = (
6=3$%2/8&6 ) (5(1& 3 *$z - *5% = (
6=%%2/8&61e .21&6$* 9% OE 3 *$z - *5$ = (
381. ,679E1 3 - *5% = (
.e5,le/(A*<(/ $1"5($ 3 *$z )* *5$ = (
9E*T -E1261e $C  *T:z * *5% = (
9iJy .DIDIQ
9E*T -E1261e $C *T:-o* *5% = (
9DUJD -iQRV
61QGRU )HUHQF ZiV]ly $C  *B:- ¢ *5% = (
9DUJD -iQRV Vi
+259E7+ /E6=/T 3 xeoox *5% = (
9DUJD 9IRMHIID
9$5*$ 9,2/ (77$ $C  *B:- ¢ *5% = (
9$5*$9,2/(77$ $C  *Tz * *5$ = (
9$5*$ 9,2/ (77$ $C  *B:- ¢ *5% = (

%66 %URNHU 6HUYLFH 6\VIHP

THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
9$5*$ 9,2/(77$ $C  *$z * *5% = (
9$5*$ 9,2/(77$ $C  *$z * *5% 2 (

9Dy EJQHV
9$66 *E%25 3 *$z % *5% - (

9DV %piD =Rl
9IQF]H 7DPiVQp 3 *$z ot *5%: (

9DVV %plD =Rl

9IQF]H 7DPiVQp 3 *$z - *5$ = (
9lQFIH 7DPiVQp 3 *$z - *5% = (
%$51% ./7,.T 3 *$z * *5$ = (
)$5.$6 ,679E1 3 *$z )* *5% = (
-(1( 5T%(57 3 *$z * *5$ = (
9DW *iERU
9$66 *E%25 3 * o ox *5$ = (
9DWV 6]UYID
.DSRVYill 9DI\RQNH]HIR =U 3 5%: % *5$ = (
9DWQp %DNRV (G
%256E1<, %e/$ 3 *$z * *5$ = (
9pFVL =RIIiQ
)$F<*<P6le 1$*< =68=6$11$ 3 o % *5$ = (
9QHUHFNHL =RIiQ
$512/"1e +$/0$, -$7$/.1 3 *$z - *5$ = (
9QHUHFNHL =RIiQ
6=9%$7+ OE5721 3 *$:- $ *5$ = (
9QHUHFNHL =RIiQ
+$-"0 $1"5E6 3 *$z - *5$ = (
7(5%(66< (5=6e%(7 3 *$z - *5% = (
-$57%, $1(77 .25 *=:o * *5$ = (
.29E&6 %$/E=6 .25 *To o* *5% = (
*(,6=7,.%251e 3 *$z )* *5$ = (
3 - *5% = (
*(,6=7,%25 3 *$z * *5$ = (
9LQF]H )HUHQF -
7ylK 7DPiV $C  *$:- )™ *5$ = (
9LQF]H -y]VHIQp
9,1&=( ,50% 3 *$z )% *5$ = (
&6(35(*,1e . (//(5 OE5,$ 3 *$z % *5% = (
&6(35(*,1e . (//(5 OE5,$ 3 *$z % *5$ = (
&6(35(*,1e . (//(5 OE5,$ 3 *$z % *5% = (
/=E.-1T=6Q 3 *$z % *5$ = (
.29E&6 -T=6()1e 3 *$:- % *5% = (
.29E&6 -T=6Q) 3 *$z % *5$ = (
5$86&+ ,679E11le 3 *$:- % *5% = (
%58&.1(51e 6&+1(7=(5 ./E5 3 *$z )" *5$ = (
0e6=E526 +(/*$ 3 *$z )* *5% = (
7%$.E&6 /E6=/T ,679E1l1le 3 *$z )* *5$ = (
)$//(5 .,66 €9% 3 *$z * *5% = (
$17$/ 0$5*,7 3 *$z * *5$ = (
%51 /$-261e 3 *$z  * *5%:-(

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVII %XGDIRNL ~i

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
%51 /$-261e 3 *$-  * *5%:-(
52+1 &6$%$ 3 >z * *5% = (
)2)$, -T=6()1e 3 *$- * *5% - (
9(,6=-T=6()1le $C  *$: * *5% = (
6=,17%$, ,679E1 3 *$- * *5% = (
20%,)(5(1&le $C  *$: * *5% = (
20%,)(5(1&1e $C  *$: * *5% - (
9E56=(*, /E6=/T $C  *$: * *5% = (
186=%$801e .29E&6 /21$ 3 *$o o* *5% - (
52" (1%h&+(5 -T=6() 1le $C  *$: * *5% = (
.267<E1 =2/7Elle $C  *$:- =~ *5% = (
9LQFTH -y]VHIQp
9E56=C*, +(//$ 3 *$: % *5% - (
9LQFTH -y]VHIQp
5E&= 7tO($ 3 *$:- % *5% = (
SDGRYIFV *DEUHND 3 S} *5% = (
9UDQD ,(GINy
6($/(" $5.)7 3 5%z * *5% = (
= [FKQDIHN -y]VH
.$721% .29E&6 %(1&( 3 *$z Y% *5% = (
=DJ\YD =RWiQQp
*E/ ,679E11le 3 *$z )* *5% = (
.29E&6 *<8/$ 3 *$: )* *5% - (
.29E&6 ) (5(1&1e 3 *$z  * *5% = (
+(*("86 (5=6e%(7 $C  *$: * *5% - (
%$1.$ %e/Ele $C  *$- >+ *5%:(
=iYRGVIN\ -iQRV
"O .l 3 56:- % *5%: (
=VRIQDL OHILQGD
=62/1$, e3h/(7*e3e6=(7, - 3 5%z * *5% = (
OE7+e 717+ 0$*"2/1% 3 *$: )* *5% - (
=VRIQDIQp 3IQlp
9,"$ $0%$5,//% ,/21$ 3 *$: % *5% - (
gVV]HVEIHI pUipN

JRUIDIRP , (85

$iQV] . JUIG|S 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP %IV NV ~XIDOpN

DRUIDIRP ,, (85

$IQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DWID  7DUIDP %IV LV ~XIDOpN

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

RYiFV *\|]]



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVIl %XGDIRNL ~I

$HQIV] . IWG]S  G]HUJEGE (\VpJ  7ISXV  7DWD  7DUDP %L1 NiW ~XIDIpN
$FKV OiliD
+251<E. 620$ %(1&( 3 *T: (& *5% 2 (

EFV &VDED 7DPiV
6=2//26, .E52/< $C  *$:- ) *5$ = (

$PEUXV 9DUJD -y
0,=6( O/, 77$ 3 *$: )(& *5% 2 (
/$.$726 679E1 3 *T: (" *5% = (

$QIDI %HiID (U]
$17%$/ $77,/Ele 3 *$: (& *5%: (

%RIQiU (UQ]Qp
+259E7+ 0$5,$11$ /8&$ 3 *": (& *5% = (
78%$ -1=6() *<g5*< 3 *$z )" *5$ = (

&VISHV =VX]VDQQ

/=211e )85E5 =68=6%$11% 3 *$:z ) *5$ = (
&VIUH -iQRV

&6,5( -E126 3 *$z (" *5$ = (
&6,5( -E126 3 *$:- (" *5% = (
&6,5( -E126 3 *$z (" *5$ = (
&6,5( -E126 3 *$:- (" *5% = (
&6,5( -E1261e *E%25 (7(/- 3 *$z )" *5$ = (
pVL OilID . DID

5%-.Tle 2%5E&= E*1(6 3 *$:- (> *5%:(
5%-.Tle 2%5E&= E*1(6 3 *$:-  (* *5% = (
5%-.Tle 2%5E&= E*1(6 3 *$:- (> *5%:(
= pYDL *iERU

.8="(5*(//e57 3 - (& *5$ = (
- (6=7+(/<,)(5(1& 3 *$: (& *5% = (
" pYDL +RUYiIK -

" 2%26, 7,%25 $C  *$:- ) *5% = (
“yly 7 QGH

&68//%* -1T=6Q) 3 *$z  (* *5% = (
&68//%* -T=6()1e 3 *$z  (* *5$ = (
EJ "yl $Gy .l 3 *$:z  (* *5% - (
ell *DEUHID

9(5(6 *<2=2 7$0E6 3 >z (& *5% = (
6=("(5.el1<,7h1"((1,.2 3 - (& *5$ = (
YHNHIH *DEUHN

.29E&6 ,679E1 3 *$: (& *5$ = (
YHNHIpQp 7yiK O

.29E&6 ,679E1 3 =" - (& *5%:(
.29E&6 ,679E1 3 *$:- (& *5% = (
+1JD OKiNQp

67()E1 ,679E1 3 *$- (* *5% = (

%66 %URNHU 6HUYLFH 6\VIHP
7HIHVEIP pQ\HIV] i PRIiV SRYIFV *\|]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li
$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
+HLQHNQP QHUHFN
*$%26 6=,/9,$ 3 *$:- (& *5$ = (
-XKiV] (UQR $C  *$: *5% = (
+HUPiQ 61QGRU
)$5.$6 -$7$/,1 3 *sz ) *5%: (
+XEHU -iQRV
" %86= "20,1,. 3 *$:- (" *5% = (
+XV] iU +DIQDIND
“E9,” 0$5,$11 3 *$z  (* *5% = (
-1JQHFV OINIyVQ
&6(+3E/ (7(/-$ 3 *$:- (& *5% = (
&6(+3E/ (7(/-$ 3 *$:- (& *5$ = (
*XUDI\ EUSiG 3 *$:-  (* *5% = (
7$5, 7,.%25 $C  *B:- *5$ = (
6=3%T 2562/<$ $C  *$:- *5% = (
-XKiV] (UQR $C  *B:- *5$ = (
.DUVDL VIViQ
6=$%11e 6=(1" ()< OE5,$ 6= 3 *$: )(& *5$ = (
3$331e +259E7+ *<gl*<, 3 *$: )(& *5% = (
03$7(6=5TH(57 3 *$: )(& *5$ = (
-HHPHQ ,VIYiQ
7RUQYFINL -iQRV 3 *$: (* *5$ = (
- PQLQIHU ODUJLK
5E%(/ ,05( 3 *$z  (* *5$ = (
=EQE5 *<8/$ 3 *$z  (* *5% = (
6=,/9E*<1e /25,1&= $1,7$ 3 *$z  (* *5$ = (
- HUpNI\ iUty 1yU
%HIXV EURQ $C  *B:- *5$ = (
.LVSil OyQIND +
.,63E/OT1,.$+$-1%/.$ 3 **: (& *5$ = (
.,63E/ 6=,/9,% e9% 3 *= - (& *5% = (
.,63E/OT1,.$+$-1%/.$ 3 **: (& *5$ = (
.IWQp -RYiFV,
.2&6,6 ,05( $C  *B:- *5$ = (
-RYiFVZiV]ly 6
.(//(51e 6,326 6=3%T -8~, 3 *$:- (& *5$ = (
-RYiFV OlNiyV
.29E&6 0,./T6 3 *$: (* *5$ = (
-RYiFV 7 QGH
%$1.$ %e/Ele 3 *$z  (* *5$ = (
- XQ 7LERUQp
.81 7%251e 3 *$:- (& *5$ = (
.(//(5-E126 3 *$: (& *5% = (
%66 %URNHU 6HUYLFH 6\VIHP
THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



0,& %LTIRVEITVL SINXVT - W

+ %XGDSHVH %XGDIRNL ~li

$liQV] -GS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
/RUQF] 7yiK -X
$/)g/",E"EO 3 **: (& *5$ = (
.66 $77,/% 3 ** - (& *5% = (
9E5$™, 7$0E6 3 *$:- (& *5$ = (
ODGHU ,VIYiQQp
/2&.1e6=,—- /T 3 *$:z ) *5$ = (
OilIRQ (UJVpEHI
OpV]iURV *\JUJ\L $C  *B:- *5$ = (
1DJI\ *iERU
%2"T .5,6=7,1$ 3 **: (& *5$ = (
3DSS eYD
(5" ( ,679E1 3 **: (& *5$ = (
6DIDLQp ORVFK
..66$75,(11 3 *$: )(& *5$ = (
.E53E7,=2/7E1 3 *$:-  (* *5% = (
T&6$, /$-26 3 *$z  (* *5$ = (
)85e6=,679E11le 3 *$:-  (* *5% = (
6FKHIQp 6LPFVL
NDVFKH) SDLQHU $C  *$:- ) *5% = (
6FKXEHUI =RIiQ
+259E7+ .$7%$/,1 $C  *$:- (* *5% = (
6 IRQp -RYiJy O
Y- (7 (-T=6Q) 125%(57 3 *$z ) *5% = (
(- (7 (-T=6Q 125%(57 3 *$: (* *5$ = (
6]HNpU =VRII
%252661e 785&6E1 OES,$ 3 - (" *5$ = (
6]HNHUHV OyQIND
6=(.(5(6 011,.$*=(//$ $C  *B:- *5$ = (
7.V]D -DPUWD =
%$5E7+ O,./T6 3 *$:- (& *5$ = (
*(//el *$%5,(//$ /213$ 3 *$z  (* *5% = (
6=$1<, /E6=/T 3 *$z  (* *5$ = (
%$/$7,1(&=0,./16 $C  *$:- *5% = (
$** -1T=6() *e=$ $C F$: *5%: (
%$5%$5,8&6 7,%25 $C  *$:- *5% = (
*|VFKI - iURINQp $C  *B:- *5$ = (
67$1.29,76 “E9," $C  *$:- *5% = (
7$.E&6 -T=6Q) $C  *B:- *5$ = (
7$.E&6 -T=6()1le $C  *$:- (* *5% = (
3$"El<,le -8+E6= OE57$ 9, $C  *B:- *5$ = (
67$1.29,761e $-7$, - $7$/, $C *$: *5% = (
9iJy -iQRV *\R]
9E*T -E1261e 3 *$:- (& *5% = (
9E*T -E1261e 3 *$:- (& *5$ = (
9E*T -E1261e 3 *$:- (& *5% = (
9E*T -E1261e 3 *$:- (& *5$ = (
9DV]Ny ,IGINy

%66 %URNHU 6HUYLFH 6\VIHP

THIHVEIP pQ\HIV] i PRIV -RYIFV *\]]1



O,& %LTIRVEITVL SINXVT - W
+ %XGDSHVII %XGDIRNL ~i

$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN

9DV]Ny -XUDQQD 3 ** - (& *5% = (

9HUHFNHL =RIIiQ

9pvo .l $C  *$: *5% = (

=DJ\YD =RWiQQp

=617e5 $1"5E6 *<g5*< 3 *$:-  (* *5% = (

=VIIPRQG =VDQHIl

=VIJPRQG eYD (U]VpEHI $C  *$B:- *5% - (

gVVIHVEIHI pUipN

$] HIV] i PRIi WD) NDSFVRIDIRV UHNIDP i FLyNDIl Npli N tUiVEDQ D] HIV i PRIV Np KH]YpIHIpi] 0 V] i PRIl

KpliHQ EH) 0 D] O,& WRGIEDQ (HDGQL

%66 %URNHU 6HUYLFH 6\VIHP

THIHVHIP pQ\HIV] i PRO1V

RYiFV *\|]]



